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€
A=0,41%0,22=0,09m?
U=(0,41+0,22)%2=1,26m

@

A=3
1

2,00%47,50=1520,00m?
7,00%31,00=_527,00m?

+

2047,00m?

U=(32,00+17,00+47,50)%2=193,00m [0 7023 302

®

A=2,00%6,50=13,00m?
+2,00%3,40= 6,80m?
+1,65%4,80=_7,92m?

€)
A=0,872%1= 2,378m?
U=0,871x2= 5,k66m

A=2.10+3.00,3 30-14 36m2

7
U=5,70+3,00= 8,70m
+42,002+3,302 = 3,86m
= 3,40m
15,93m

O,

A=4,50%5,10= 22,95m?
+1,502%1/2=_3,53m?

27 72m? 26 48m?2
U=(6,50+5,65+1.40)%2=27,10m U=4,50%3+5,10+2,10=16,20m
+150%1= 4,71m
@ 20,91m
M=30/3=10 > M 1.10
A0 30+0 12= 0 036m? M=3000/3=1000 = M 1:1000
+0.12%0.16= 0.019m?2 A=30,00%29,00= 870,00m2
0.055m2 -9.00%16,00/2= 72,00m?2
798,00m?2
U=(0,30+0,28)*2=1,16m
U=21,00+29,00+30,00+13,00=93,00m
© +49.002+16,002 =18,36m

M=448,8/3,4=132 = M 1132

A=4,488%2,376="10,66m?
+3,168%1,32= 4,18m?
+1,322x1/k=_1,37Tm?

16,2 1m?

Erstellt mit einer Schulversion von Allplan

111,36m

U=2,376+4,488+3,696+3,168=13,728m
+1,32*1/2=_2,073m
15,80 1m
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